Trigonometry Formulas
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sin(—a) = —sina

cos(—a) = cosa
tan(—a) = —tana
cot(—a) = —cota
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sin?6 + cos?6 =1
1 + tan?6 = sec?6

1 + cot?6 = cosec?0
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cos(a + B) = cosacosf —sinasinf
cos(a — B) = cosacosf + sinasinf
sin(a + 8) = sina cos f + cos a sin 8
sin(a — B) = sina cos B — cos a sin B

tan a + tan
tan(a + B) = 1 P

—tanatanf

tana — tanf8
1+tanatanpf

tan(a — B) =
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sin2a = 2sinacosa

cos 2a = cos?a — sin*a
cos 2a = 2cos?a — 1
cos2a =1 — 2sin’a

2tana
tan2q¢ = ————
1—tana
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6 : 1 . :
sinf = 2 sinzcosz sinacosf = > [sin(a + B) + sin(a — B)]
. 1. .
cos 0 = 2cos? 5~ 1 cosasinf = > [sin(a + B) — sin(a — B)]
1
cosO =1 — 2sin? 3 cosacospf = 5 [cos(a + B) + cos(a — B)]
0 1
2 tan sinasinf8 = —=[cos(a + ) — cos(a — )]
tanf = 9 2
— tan2 2
1—tan >
Bt —tan 2
#t = tan E R & Fe £ LR
1 —_— . . — . y x y
SIna =273 sinx + siny = 2 sin 5 C0s—
_1-t? X+ X —
cosa=r7 sinx —siny = 2 cos 4 sin Y
2 2
2t
= x + X —
tana = 1+ 2 cosx + cosy = 2 cos zycos zy
Xty x—y
cosx —cosy = —2sin sin
2 2
2
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